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int a = 2, b = 3; int al2] = {2, 3};
int ¢ = 1, d = 4; - int b[2] = {1, 4};
int x, y; int x[2];

CEIEL, TOMOHASL ZNICAKTHILIICEZETIE, EHIZ, VAT T T LE
TRANL, FATHRRZ 7 ANVDBIE LSEMET 20 R L2 SV, B, fElkLizY —RA 7 m
7T MIFIRIL T LR — MO 5 2 &y

BER BAESHOZ L,

LR—F03DY =270 s T 5 THEHEEAE LOMAE | (report03.02.c) #&EC L
T, BNy =27 07T s TEFEEER Lo IR (Bds1)] (report04.02.c) I[ZFH & #i
AR IV, BRI

double a = 2.0, b = 2.5; double a[2] = {2.0, 2.5};
double ¢ = -1.5, d = 4.5; - double b[2] = {-1.5, 4.5};
double x, y; double x[2];
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( 12 ) { x[2]1[2] = {{1.0, 2.0},
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1: #include <stdio.h>

2

3: int main(void)

4: {

5: int al2] = {2, 3};

6 int b[2] = {1, 4};

7 int x[2];

8

9: //Fn

10: x[0] = al0] * b[1] + a[1] * b[0];

11: x[1] = al1] * b[1];

12: printf (" (%d/%d)+(hd/%d)=Chd/%d)¥n", al0], al1l, b[0], bl[1], x[0], x[11);
13:

14: /17

15: x[0] = al[0] * b[1] - a[1] =* b[0];

16: x[1] = al1] * b[1];

17: printf (" (4d/%d) - (hd/%hd)=(%d/%hd) ¥n", al0], al1]l, bl[0], b[1], x[0], x[11);
18:

19: / /T8
20: x[0] = a[0] * b[0];
21: x[1] = al1] * b[1];
22: printf (" (%d/%d)* (%d/%d)=(%d/%d)¥n", al0], al1]l, b[0], b[1], x[0], x[1]);
23:
24 /77
25: x[0] = a[0] * b[1];
26: x[1] = al1] * b[0];
27: printf (" (4d/%d) / (Chd/%hd)=(%d/%hd) ¥n", al0], al1l, bl[0], b[1], x[0], x[11);
28:
29: return O;
30: }
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1: #include <stdio.h>

2:

3: int main(void)

4: {

5: double al[2] = {2.0, 2.5};
6: double b[2] = {-1.5, 4.5%};
7: double x[2];

8: double tmp;

9:

10: //Fn

11: x[0] = a[0] + b[0];
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x[1] = a1l + b[1];
printf (" ((4E)+CAE) 1)+ (CAE) +(%f) 1) =((%E) + (hE) i) ¥n",

afo], al1], b[0], b[1],

/17

x[0] = a[0] - b[0];

x[1] = al[1] - b[1];

printf (" ((GE)+ () 1) - (GE) + (%) 1) =((%hE) +(%£)i)¥n",

afo], al1], b[0], b[1],

/1%

x[0] = a[0] * b[0] - a1l * b[1];

x[1] = al0] * b[1] + a[1] * b[0];

printf (" (GE)+(AE) D)+ (CAE)+(%E) 1) =C (%) +(hE)i)¥n",

afo], al1], b[0], b[1],

/178

tmp = b[0] * b[0] + b[1] * b[1];

x[0] = (al0] * b[0] + al1l * b[1]) / tmp;

x[1] = (-1 * a[0] * b[1] + a[1] * b[0]) / tmp;
printf (" ((GE)+(%E)1i) / ((GE)+(%E) 1) =( L)+ (%f) i) ¥n",

al0], al1l, bl[0o]l, b[1],

return O;
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#include <stdio.h>

: int main(void)

: {

double x[2][2] = {{1.0, 2.0},
{3.0, 4.0}};
double det;

//2 X 2475 DT HI R ol
det = x[0][0] * x[11[1] - x[0][1] * x[1][0];

printf ("det (X)=Yf¥n", det);

return O;
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